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etapes de calculs
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27 - 2n-1 = 2

rappel (valable seulement avec la base 2): 2" - 2n~1 = 2n-1
2n=1 =2

méme base (= 2)
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rappel: x"~1 = x"/x
20 - 2n/2 = 2

soit k = 2"

k - k/2 = 2

(2k - k)/2

Il
N

k = 4

k 2" = 4

2" = 22

méme base (= 2)



2n - 2n-1 = 2

(2n - 2n-1)/2n-1 = p/on-1
2 -1 =2/2n"1

1= 2/2n-2

2n-1 = )

méme base (= 2)
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